LH COMPAS JEDA

O EX|FENZAL
< ET Al 4|O|E] Z4 FZICH=]
2FXHEA oS 2 ol

El : Philos



EEISCTEITEES)

El : Philos

LH

e ET I

COMPAS JHJ‘L;

20 104 /700 B (L] 0! UL ESEFS B SlA
=T 2B HAB(SHIE) (Public Score) (Private Score) AAE R
1 Central-Park 0.63407 0.59187 41
2 nchos ﬁ 0.62434 0.57856 1267
- —
3 philos G A 0.60678 0.57319 142
4 TEAM-EDA | 0.56591 0.53174 176
5 ZHoFX{ M| 0.55806 0.52174 153
= 1_1" A|O A | 013
0| bk 0|B=2
( ZAItat) (Zgstat) (swgetsstat)
ansrb55@gmail.com useok2791@naver.com audgh3710@gmail.com



2}

“3

1. G|O|E{ MX{2| 2t
2. HAl2{ Db

3. ’é%

LH compas. M.
SRERTAZAL




1. H|O|E] X 2| 218

Keyword — O|XA}g{|, EDA




LﬁJ compas. M.
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array(['dt_of_fr', 'fr_yn', 'bldng_us', 'bldng_archtctr', 'bldng_cnt",
‘bldng_ar', 'ttl_ar', 'Ind_ar', 'dt_of_athrztn', 'ttl_grnd_flIr",
"“ttl_dwn_flr', 'bldng_us_clssfctn', "tmprtr', 'prcpttn', ‘wnd_spd',
‘wnd_drctn', ‘hmdt', 'gas_engry_us_201401"', 'ele_engry_us_201401",
‘gas_engry_us_201402', 'ele_engry_us_201402",
‘gas_engry_us_201403', 'ele_engry_us_201403",
‘gas_engry_us_201404", 'ele_engry_us_201404",
‘gas_engry_us_201405', 'ele_engry_us_201405",
‘gas_engry_us_201406', 'ele_engry_us_201406",

2. |22 oAb A

“Iw_13141011°, "jmk', “id', ‘rognl_ar_nm', ‘rgnl_ar_nme",
"Ind_us_sttn_nm', ‘'rd_sd_nm', ‘emd_nm', ‘hm_cnt', 'fr_sttn_dstnc',
"bldng_ar_prc', 'fr_wthr_fclt_dstnc', 'fr_mn_cnt', 'mlt_us_yn",

‘cetv_dstne', 'fr_wthr_fclt_in_100m', 'cctv_in_100m",
"the_rtl_str_dstnc', 'sft_emrgnc_bll_dstnc', 'ahsm_dstnc',
‘no_tbc_zn_dstnc', 'bldng_cnt_in_50m', 'trgt_crtr',
"fr_fghtng_fclt_spcl_css_b_yn', 'fr_fghtng_fclt_spcl_css_6_yn',
‘us_yn', ‘'dngrs_thng_yn', 'slf_fr_brgd_yn',
"blk_dngrs_thng_mnfctr_yn', ‘'cltri_hrtg_yn'], dtype='<U28"')
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1. 2EX|2} 1/2 O] Atol 2kad Abx|

= o2 —/

dt.loc[:,dt.isnull{).sum()>30000].columns

Index(['prepttn', 'Iw_13101010", 'Iw_13101110"', 'Iw_13101210", 'lw_1310
1211,

"Iw_13101310", "Iw_13101410", "Iw_13111010", "Iw_13111110",

“Iw_13121010", "Iw_13121011", "Iw_13131010", "Iw_13131110",

Tw_ 13141010, "Iw_13141011", 'trgt_crtr',

“fr_fghtng_fclt_spcl_css_b_yn', 'fr_fghtng_fclt_spcl_css_6_yn',
‘us_yn',

‘dngrs_thng_yn', 'slf_fr_brgd_yn', 'blk_dngrs_thng_mnfctr_yn",

‘cltri_hrtg_yn'],

dtype='object"')
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dt_of_fr
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dt_of_fr year month day time :
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3. A 2

S ob] = SRZFEMN[LERSEN["ZSE"]. |snull()].iloc[:,:—4]
S _obj = SRS EMNERZEN["ZES"] isnul1()].iloc:, 4]
2C obj = EXSEN[ERSEMN["2(c)"]. isnull()]. |Ioc[ —4 ]
ST obj] = RSN [ERSEMN["SZ"]. isnull()].iloc[:, 4]

H2H A G 22 2

model = RandomForestRegressor() fit(S&F_X,
ZESFE =X A2l gt = model .predict(Z&F_obj)
model = RandomForestRegressor() fit(S=_X,
ZEX=2A2A=X|A42| gt = model .predict(Z=_obj)

model = RandomForestRegressor().fit(=2%_X,
TAHAEX| A2 = model .predict (=< _obj)
mode| = RandomForestRegressor().fit{&S=_X,
STZ2E=XAM2lgr = model .predict(=<_obj)

SIS ALE S0 HEX| 2t Ot A1 O 2 sH&(fit)
AI21 &, 2E AF 22 ol Z(predict)sto] A2
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4. #78 O|0|E| HEX| K2

dt[dt["bldng_us"].isnul I()]["fr_yn"].value_counts()
N 27647
¥ 30
Name: fr_yn, dtype: int64 HEX|0| 3ixf vt e D H| S
dt[dt["bldng_us"].isnul I ()]["fr_yn"].value_counts()/dt[dt["bldng_us"].isnul I ()]["fr_yn"].value_counts().sum()
N 0.998916
¥ 0.001084
Name: fr_yn, dtype: float64
29X Lk|0o| 2F=© © HFAH H LIO D452 ol
ASXQl gr=2 =2kl S gl oF 2 Aok 29
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4. #78 O|0|E| HEX| K2

dt[dt["bldng_archtctr"].isnull () ]["fr_yn"].value_counts()

N 27644

L 21

Name: fr_yn, dtype: int64 HEK|o| SIxfj B D H|E
dt[dt["bldng_archtctr"].isnul () ]["fr_yn"].value_counts()/dt[dt["bldng_archtctr"].isnull{)]["fr_yn"].value_counts().sum()
N 0.999241
Y 0.000759

Name: fr_yn, dtype: float64
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5. 0]2]9] =X C|OJE] X z2|(1)

dt[dt["tt!|_grnd_fIr"].isnull{)]["fr_yn"].value_counts()
N 9775
Y 435
dt["tt] grnd _fIr"]).isnull().sum() Name: fr_yn, dtype: int64
10210 dt[dt["ttl_grnd_fiIr"].notnul I () ]["fr_yn"].value_counts()
I|-‘.5|' §¢9l ‘;cg' 'o;l'9| ?é'éxl '¢‘ N 41767
Y 7eee

Name: fr_yn, dtype: int64
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5. 0]2]9] X C|OJE] K z2|(2)

print("2=x| 2= ",dt["dt _of _athrztn"].isnull{).sum())
print("Z2=X| 2l -;-’,-f§9| SIAHEM o6 @ ")
dt[dt["dt_of _athrztn"]. |snull()][ fr yn"].value_counts()

N 27581
Name: fr_yn, dtype: int6d
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. M2 Ct2 202|5 gl 5l0|mufzto|E AL
- ( KNN, LogisticRegression, Tree, Bagging, Boosting )

. ME CH2 8 ol

— g
- TrainRtO 2 st I, Valato 2 st&st BE, Train+Val2 sttt RS 212t AR

B(y|x)

Random Forest Simplified

‘ Decision No de | r
— e stance I 1 T
Random Forest _— | e 1 alf,
‘ S—— ‘ pecisionoge | ST /OQ: - /:\\ & \"s/ . Byl =-L .\-}': =
p _ ~ /
% F% RKR AN fu’\p Q’Dﬁ\f ﬂ/‘(p }P\O\Q ! 2 h [ +1
dbde é 2 db dbdo do'de AR,
Le: Degision Node Leaf Node Leaf Node Tree-n o - ot -
Kyl =-Li=-10{) 2]
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n |

Tree Bagging Boosting
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3. Probability

setosa 2=

versicolor &=

virginica &5
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145

0.878030
0.797058
0.851998
0.823406
0.896035

0.001165

0.121959 0.000011
0.202911 0.000030
0.147976 0.000026
0.176536 0.000058
0.103954 0.000011
0.232330 0.766505
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model .predict_probal)

Signature: model .predict_proba(X)
Docstring:
Probability estimates.

The returned estimates for all classes are ordered by the

For amulti_class problem, if multi _class is set to be "multinomial”
the softmax function is used to find the predicted probability of
each class.

predict_proba £ 0|2
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3. Probability

Actual Values

Positive (1) Negative (0)

Positive (1) TP FP

Negative (0) FN TN

Predicted Values
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3. Probability

proba_high = []
for i in range(len{(proba)):
if probal[1][i] > 0.63:
proba_high.append(1)
else:
proba_high.append(0)

HAHATH 2 Y H =2 = pd.DataFrame{proba_high)
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Excel office 365

Lt A
| 4
N\

a jupyter
ANACONDA o~
Anaconda3

jupyternotebook

python 3.7 °

o A AR K LTES

10 )

 Pandas

* Numpy
 matplotlib
 seaborn

shap
sklearn

7 )
LH  cowmeas.fhlw
SREXTUA

e catboost
+ lightGBM
+ XGBoost

* warnings
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 CPU : Ryzen7 2700U 4 core

RAM : DDR4 16GB
GPU : Radeon VEGA 10
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